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/% Global domain declarations *x/

global domains
Keyzcr;up;down;esc;1eft;right;pgup;pgdn;otherspec

/% Global predicate declarations ¥/

global predicates
gomenu(integer }—(o0J
nondeterm gol(string,string)—(o,o)
semant(string,string)-(i,1i)
intro
readkeyv(Reyy-(07}
nondeterm

/% Global database declarations X/

database

noun(string)
nounl(string?
verb(string)
verbl(string’
aux(string’
art(string’
adj(string’
prep{string>



/% To give the pressed key value

predicates
readkeyl{RKey,char, integer
readkeyvZ2(key, integer)
clauses
readhkev(Rey): -
readchar{T),
char_int(T,Val},
readkeyl(Key,T,Val).
readkeyl(Rey,_,B):-
i
readchsar(T),
char_int(T,Val),
readkevZ2(Key,Val}.
resdkeyli(cr,_,13):-}.
readkeyl(esc, __,27):-}.
resdkevl{(otherspec, _,_J.
reasdkev2(up,72):-1.
readkey2(down ,883: -1 .
readkey2(left,#Hy:-1.
readkey2(right ,77):-1.
readkey2(pgnp,73):-}.
readkeyzZ{pgdn,81l3:~-!.
readkeyZ2(otherspec, .

*/



/% MAIN PROGRAM *x/

nowarnings

code=3500

/% Include files *x/

include "globals.pro”
include "gdb.pro”
include “"keys.pro”
include "kb.pro”
include "nlp.pro”
include "mainmenu.pro”
include “intro.pro”
predicates

checkop(integer )

g0

/% Goal section */

goal

mzkewindow(1,113,27,"",8,0,24,88},
makewindow(2,49,78, "MAIN MERU",2,25,18,38),

makewindow(3,127,27, " INTRODUCTIOR" ,6,8,24,80),

makewindow(4,113,27, "FONAL",5,%,24,80,
makewindow(5,63,27, "PARSING",5,5,15,38),
mekewindow(6,83,75, "COMMENT" ,8,38,10,48),

makewindow(7,116,27, "KNOWLEDGE BASE",92.8,24,8¢,

makewindow(8,113,78, "MENU" ,5,25,13,38,
makewindow(9,49,23, ADDITION",5,18,15,45,
makewindow(19,498,23, "DELETION",5,18,15,45,
mekewindow(11,49,78, "INTRO-MERU" ,7,25,13,38 .,
makewindow(12,67,75, "FONAL-INTRO",5,13,15,55}
makewindow(13,67,75, "DATABASE-INTRO",5,13,15,
makewindow(86,75,8,"",24,4,1,88),
consult("word.lst” ),

EGC.
clauses
go:—-

cursorform(-1,-173,

shiftwindow(2},
gomenu(A},
checkop(A),

EO.

/* EXIT */

checkop(S):-

'Scursorform(l, 1},

fail.

3
55%,



/% 0S8 SHELL ¥/

checkop(4y:-
existfile("s:"\Ncommand.com” },!,
system( "s: \\command.com” }.

checkop(4):-
shiftwindow (88 ),
clesrwindow,
field str(®,2,32,"Boot disk is missing in A drive.” .,
field str(®,35,3@, Press any kKey Lo continae. ..,
readkev(_J,
clesrwindow,
shiftwindow(2}.

/% FORAL *x/

checkop(3):-
shiftwindow(1l},
shiftwindow(4),
cursorform(l, 1),
gol(H,V),
semant(¥,V),
enrsorform(-1,-13},
]

v o

/* KNOWLEDGE BASE operations */

checkop(2):-

done,
]

/% INTRODUCTION %/
checkop(l):-

shiftwindow(3},

intro,
3

intro: -
start,!.

intro.



/% Main menu %/

predicates
printlis(integer;
checkla(Key,integer
print2a(integer)
check2s(Rey,integer)
print3a(integer)
check3a(Key, integer)
printd4a(integer )
checkds(Key,integer}
printba(integer )
checkbs(Key,integer

¢clauses
gomenn(A) -
shiftwindow(1ly,
clearwindow,
printla(A).

/% Highlighting INTRO option */

printiaCAy:-
shiftwindow(Z},
clesrwindow,
field_ﬁtr(2,7,18,"1.INTRDDUCTION"},
field_attr(2,7,16,151),
field str(5,7,16,"2 . KNOWLEDGE BASE" .
field_sttr(H,7.16,49),
field str(8,7,16,"3.FONAL"},
field_attr(8,7,16,49}.
field str(11,7.,16,"4.05 BSHELL"},
field_sattr(11,7,16,48),
field_str(14,7,16,"5.EXIT "2,
field_attr(14,7,16,48},
readkey(Rey},
checkla(Kev,A.

/¥ checking the key pressed X/

checkla(Key,A): -
Key=up,!,
printhalA}.

checkla(Key , Ad: -
Key=down, !,
print2a(A’.

checkla(Key,13:-
Key=cr,!,
ahiftwindow(3).

checkls(__,AY:~
printla(A).



/% Highlighting KNOWLEDGE BASE option */

print2alAy: -
shiftwindow(2:,
clearwindow,
field_str(E,?,16,”1.INTRGDUCTIQN“},
field_sttr(2,7,16,48),
field str(5,7,16," 2 KHOWLEDGE BASE" ¥,
field_attr(5,7,16,151},
field_str(8,7,16,"3.FORAL" ).
field_attr(8,7,16,49},
field str(11,7,16,74.03 SHELL" .
field_attr(11,7,16,49),
field str(14,7,16,"5.EXIT "},
field_sttr(14,7,16,49;,
readkev(Keyy,
check2a(Key,A).

/* checking the key pressed X/

check2a(Key A~
Key=up, !,
printia(A}.

check2a(Key,A): -
Rey=down, !
print3s(Al.

-

check2as(RKey,23:-
Rev=cr,!,
shiftwindow(4}.

check2a(_,A):-
print2a(A).

/* Highlighting FONAL option */

print3a(A): -
shiftwindow(27,
clearwindow,

. field _str(2,7,16," 1. INTRODUCTION" },

field_attr(2,7.,16,48),
field _str(5,7,16,"2.KNOWLEDGE BASE" }.
field_sttr(5,7,16,48},
field_str(8,7,16,"3.FONAL" ,
field_sattr(8,7,16,151,
field str(11,7,16,74.03 OSHELL" X,
field attr(11,7,16,43),
field str(14,7,16,"5.EXIT ",
field_=attr(14,7,16,48,
readkey(Rey ),
check3a(Key,A}.



/¥ checking the key pressed ¥/

check3a(Rey, Ay -
Key=up, !,
print2s(Al.

check3a(Rey,A): -
Rey=down, !,
printds(Al.

check3a(Key,3): -
Key=cr,!,
shiftwindow(5).

/¥ Highlighting 0S SHELL option ¥/

printda(A):-
shiftwindow(2),
clearwindow,
field_str(Z,?,16,“1.INTRODUCTION“),
field_sttr(2,7,16,49,
field str(5,7,16,"2 .KNOWLEDGE BASE" ¥,
field_attr(5,7.,16,49),
field str(8,7,16,"3.FONAL"},
field_attr(8,7,168,49},
field str(11,7,16,"4.03 SHELL" 3,
field_attr(11,7,16,151;,
field str(14,7,16,"5.EXIT "),
field_sttr(14,7.16,49),
readkey(RKey},
checkds(Rey, A,

/* checking the key pressed X/

checkda(Rey,A): -
Key=up, !,
print3a(Al.

checkd4s(Rey,A): -
Rey=down, !,
printba(Al.

checkds(Key,4): -
RKey=ecr,!.

checkdsa(__,A):-
printds(A’.

/% Highlighting EXIT option */

printiaA): -
shiftwindow(2},
clearwindow,
field_gtr(Z,?,16,“1.INTRGDUCTION“},



field sttr(2,7,16,48},
field str(5,7,18,"2.KNOWLEDGE BABE"
field_sttr(5,7,16,49},
field_str(8,7,16,"3.FONAL" ),
field sttr(8,7,16,49;,

field str(11,7,16,"4.03 SHELL"»,
field_attr(11,7,16,48},

field str(14,7,16,"5.EXIT ",
field sttr{14,7,16,151},
reasdkey(Rey s,

checkba(Key ,A).

/% checking the key pressed ¥/

check5a(Key,A): -
RKey=up,!,
printdsa(Al.

checkds(Key Ay~
Rey=down, !
printlis(A}.

-

check5s(Key,b): -
RKey=cr,!.

~heckba( _,Ay:~-
printSs(A).



/¥ NLP for file operations ¥/

predicates
check_yp(string,string,gtring)
check np(string,string?
check npl(string,string)
go_do
g0o_err
ehecksint(string,string,string}
check_npr(string,string,string)
findout(string,.string’
findswap(string,string}
gorenam
EOSWED

clauses
/¥ Getting the sentence X/

gol(N,¥):-
clearwindow,
write(" Enter the sentence : "y,

readln(3),
shiftwindow(5},
clesrwindow,
checksint(S5,N8,V}.

/% SYNTAX checking */

checkaint(s,8,V):- /% Npr + Verb + Prep + VP X/
fronttoken(S,H,51%,
upper_lower(A,H)},
nounl(Al, !,
write(" Noun “LAY,nl,
fronttoken(S1,H1,32),
npper_lower(Al,H17,
verbl(Al},
write("” Verb “LAly,nl,
fronttoken(32,H2,53),
npper_lower(AZ2,H27,
prep(AZ},
write(” Preposition
check_vp(S83.H,V,
go_do.

"LAZ2%,nl,

checksint(S,H,Vy:- /% Aux + Npr + VP %/
fronttoken(3,H,51},
npper_lower(A,H),
sux(A), !,
write(” Aux.verb "LAY.nd,
check_npr(S1,R, V7,
go_do.



checksint(3,H,Vi:- Vi
check vp(S5,H, V3,1,
go_do.

checksint (_,H,Vi:—

N="ERR",
V="ERR",
g0_eYr.

check _npr(S1,N,Vj;:-
fronttoken(31,H1,32,
upper_lower(Al,H17,
nounli{Al},
write(” Noun
check_vp(52,8,Vy,t.

check vp(32,R,A23:- /X
fronttoken(582,H2,33),
upper_lower(AZ,H27,
verb(A2),
write(” Verb

VP %/

“LAly.nl,

VP check %/

" LA2%,nl,

check_np(33,H).

check_np(53.,4A4%:- /¥
fronttoken(53,H3,54 ),
upper_lower(A3,H3),
art{(A3),
write(” Article
check npl(54,A47%.

check_npl(S4,A4):- /¥
fronttoken(54,H4,55),
upper_lower(A4,H47},
noundady, !,
write("” Noun
s5="",

check_npl(S4,A5%: - /¥
fronttoken(54,H4,5357%,
npper_lower(Ad4,H4),
adi(adr}, !,
write(” Adjective
Fronttoken(S5,H5,36),
upper_lower(AS5,H5),
noun{ A5,

NP check ¥/

"LA3),nl,

NP check ¥/

“LAd4%,nl,

NP check ¥/

"LA4),nl.

write(" Noun "LABY,nl,
sB="".
go_err:- /¥ ERROR routine ¥/

write(""},nl,
write("” I am not sble

Lo parse any more.’

»,nl,



shiftwindow(B},

clearwindow,

write(" SYNTAX of vour sentence wmay be Wrong (QRY" »,
write(" not in the reguired format. Y,nl,nl,
shiftwindow (887},

clearwindow,

field str(@,38,50," Press any key to continue...”},
shiftwindow(B},

cursorform(-1,-17,

readkev(_).

go_do:—
shiftwindow(B},
clesrwindow,
write(""),nl,
write(" SYNTAX of your sentence is correct.”),nl,

write(" Wait for my proceedings..."},nl,nl,
sound (188 ,2758),

shiftwindow(88)},

clearwindow,

field _str(®,30,58," Press any key to continune...”},

cursorform(-1,-13,
readkev(_J,
cursorform(1l,1%.

/¥xkx SEMANTICS check *kk/
/% File creation *x/

semant(¥,V): -
N="FILE",
V="CREATE", !,
aystem(createl.

/¥ File deletion X/

semant(N,V3:-
N="FILE",
v="DELETE" ,!,
asystem(delete)}.

/% Files listing */

semsnt (R, V):-
R="FILES",
v="LISTOUT"

t
system(direct).

semant(¥,Vy:-
N="FILES",
v="LIST".!,
system(direct ).



/¥ File display */

semsnt(N,V7: -
N="FILE",
V="DISPLAY",!,
systemn(display).

/¥ File copy */

semant(N,V): -
R="FILE",
v="COPY".,!,
system{cop).

/% File rename %/

semant(N,V):-
V="RERAME" ,
M="FILE",!,
gorenam.

/X% File swaping ¥/

semant (N, V):-
V="SWAP",
N="FILES",!,
EOSWaP .

semant(N,V): -

V="5SWAP",
N="FILE",!,
gOSWaD .

/* File comparison ¥/

semant(N,V):-
V="COMPARE",
N="FILES" .},
system(comp).

semant(N,V):-

V="COMPARE",
N="FILE",!,
system{comnp).

/¥ File merging */

semant(N,V):-
V="MERGE" ,
N="FILES",!.
system(merge ).



semant(H,Vy:-
¥="MERGE",
N="FILE".!,
gsystem(merges ;.

/% SEMANTIC error ¥/

semant (N, V-
M="ERR",
V="ERR",!.

semant(_,__ -
shiftwindow(B),
clesrwindow,
write(""),nl,
write(" Your sentence 1s SEMANTICALLY wrong (OR)":.
write(" not required for this application.”»,nl,
write(""J),nl,
write(" Press sny key to continue...” >,
readkey(_).

/¥ Rename routine X/

gorenam: —
shiftwindow(4),
clearwindow,
write(" Enter the file name Lo be renamed @ Ty,
readIn(F¥),nl,
write("” Enter the new file name "y,
readln{(FN1),nl,nl,
findout (FN,FN1},
ceursor(21,48 7,
write( "Press sny key to continne. .. ¥,
readkey(_).

findout (FR,FN1}:-
not(existfile(FH) ., !,
upper_lower(F1,FN},
write(" The file ",F1," is not existing. ..  ».

findout(FN,FN1}:-
renamefile(FN,FH13,1¢,
upper_lower(F1,FN),
npper_lower(F2,FN17},
write("The file ",F1," has been renamed t

C
rr}
d

/% Swaping the files x/

goswap: —
shiftwindow(4),
clesrwindow,

on



write(" Enter the file named 1y ¢+ 7).
resdln(Fi),nl,

write(" Enter the file name(2Y + T,
readln(FN1),nl,nl,

findawap(FN,FH1},

cursor(21,483,

write( "Press sny hkey Lo continue. .. ¥,
resdkev(_>.

findswap(FH,FR1):-
existfile(FNJ,
existfile(FN13,!,
renamefile(FN,x1x),
renamefile(FN1,FN},
renamefile(x1x,FN1),
npper_lower(F1,FN},
upper_lower(F2,FN1},
write("” The files ",F1,” and " ,F2," sre swaped ."}.

findswap(FN, _):-
not(existfile(FN))., !,
npper_lower(F1,FN},
write(" The file ",Fl1,” is not existing... " y,nl.

findswap(_,FN1):-
not(existfile(FN1)),!,
upper_lower(F1,FN1},
write(" The file ",Fl1.,” is not existing... »,nl.



/% Introduction L ¥4

predicates
start
Findl(Key)
find2(Rey)
fFind3(Key
Find4(Rey)
typel
typeld
type3d
typed
typell
typel?
typel3
Find11(Key’
findl12(Key>
£ind13(Rey’
typell
find21(Rey?
typedd
Find22(Rey)

clauses

/¥ clauses section x/

start:-
shiftwindow(3},
clearwindow,
shiftwindow(1l1l},
typell.

start.

typell:-

clearwindow,
field_str(2,4,18,"
field_=attr(2.,4,18,
field_=tr(5,4,18,"
field_=attr(5,4,18,
field_=tr(8,4,18,"
field =sttr(3,4,18,
readkevy (A,
findlidA).

typel2: -
clesrwindow,
field_ =tr(2,4,18,"
field_sttr(2.,4,18,
field_=tr(5,4,18.,"
field_=sttr(5,4,18,

1.FONAL---—-- INTRO"

1513,

2 .DATABASE---INTRO"

483,
3.EXIT TO MAIRMERU"
487,
1.FONAL-——-—~ INTRO"
487,

2 .DATABASE---INTRC"

1517,

field str(8,4,18,"3.EXIT TO MAINMERU").

field attr(8,4,18,
readkev (A},
Find12(A).

4973,



typeld: -

clearwindow,
field _str(2,4,18," 1. FONAL--~-——~ INTRO"
field_attr(2,4,18,48},
field_ﬁtr(ﬁ,é,18,"2.DATABASE———INTRQ"
field_sattr(5,4,18,498],
field str(8,4,18,"3.EXIT TO MAINMERU"
field _sattr(8,4,18,151},
resdkey(AY,

write(A),

Find13(A}.

Findli(A)y:-
A=up,!,
typelld.

Findll(A):-
A=down, !,
tvpelld.

Findl1l(A):-
A=cr, !,
shiftwindow(3},
clesrwindow,
shiftwindow(12},
typel.

find11(_J:-
! Ltypell.

find12(A): -
A=up,!,
typell.

find12(A):-
A=down, !,
tvpeld.

Findl12(A):-
A=cr,!,
shiftwindow(3},
clearwindow,
shiftwindow(13},
typeZ2l.

Findl12(_>:-
', typell.

find13(A): -
A=up, !,
tvpelld.



Findi3dAy -
A=-cr,!.

Findl13(_y:-
tvpell.

tvpel: -

clesrwindow,

field_str(@,46,6,"Page 1"},

field_attr(8,46,6,74),

field str(2,5,45, "FONAL has been coined to imply File™ ).
field_attr(2,5,5,74),

field str(3,1,56, "Operations 1n NAtursl Langusge.lt performs

well™ ),
field =str(4,1,58, "both as an Englizsh sentence parser as well
88 80 ),
field_str(5,1,58, "understanding asystem of considersble
‘ merit.The "3,
field _=tr(6,1,56, "software includes Ehet gffective and

extensive” ),

field str(7,1,58, " parsing =algorithm together with = HNatural
Language” ),

field str(8,1,50, "Understanding Syatewm.The Understanding
system” ¥,

field str(9,1,50, makes optimum use of the dictionasry in
it 8"y,

field str(1®,1,58, "particular spplication.” ¥,

shiftwindow(88),

clesrwindow,

field =tr(@,206,48, "Press Ezc->Intromeny s Pgdn->Next
page” »,

field _sttr(®,20,40,74),

resdkey (¥},

clearwindow,

shiftwindow( 12},

findl(W).

tyvped: -

clearwindow,

field_str(#,46,6, Page 27,

field_sttr(®.,46,6,74),

field _s=str(2,5,45,"FONAL is a aoftware designed to 7).

field_sttr(2,5,5,74%,

field str(3,1,58, "execunte various file operstions with the
commands” ),

field str(4,1,58,"given in the natursl langusge. FONAL has
a ")

field attr(4,34,5,7%4,

field str(5,1,50, restricted grammsy for this particulsy
spplication.” },



field =str(6,1,52,"The grammar je restricted becsuse of the
complexity™ >,

field str(7,1,58,"of the English Language.” ),

shiftwindow(88},

clearwindow,

field str(¥,11,59, Press E
Page, Pgdn->Hext p=

field sattr(®,11,59,74;,

readkey(¥),

clesrwindow,

shiftwindow(12},

find2(W).

c->»Intromenn, Pgup-rPrevious
o

LY
N
s

g
g

typed:-

clearwindow,

field str(®,46,6, "Page 3"},

field_sttr(®,46,6,74},

field str(2,1,58,"The input sentence would be command to”j,

field_=str(3,1,56, carry ont operations like creating &
file,deleting” 7,

field_str(4,1,58,"a file,displaying the directory etce . After
the” ),

field str(5,1,58,"sentence ha=s been parsed,depending on the
verb and” 7,

field_str(6,1,58, the noun nsed,the operstion would be

‘ executed.This" ),

field_str(7,1,58,"1s done by the understanding system. " 7,

shiftwindow(88},

cleasrwindow,

field_str(®#,11,59, Press Exc-»Intromeni, Pgunp-rPrevious
Page, Pgdn->Next page”’,

field _attr(®,11,59,74;,

readkey(¥),

clesrwindow,

ghiftwindow(12),

Find3(Wy.

typed: -

clearwindow,

field_str(®,46,6, "Page 4" ),

field_attr(®,46,6,74),

field_str(3,3,58,"In this software interfscing of prolog” ),

field_str(4,3,58," "with the € lsnguage has been done .C
lznguage” ),

field str(5,3,560,"has been chosen becos it’s the highest
level” ),

field str(6,3,50,"langnage thal can pe interfaced essily.” .

shiftwindow (88},

clearwindow,

field str(®,17,45, " Press Egc->Intromenu , Pgup->Previous
Page” ),

field_sttr(®,17.,45,74),



readkey(W ),
clearwindow,
shiftwindow(12),
find4(W;.

Findli(W):-
W=pgdn,!,
typesd.

Findl(W):-
Wzesc, !,
clearwindow,
shiftwindow(3),
clesrwindow,
shiftwindow(1l)},
typell.

Findli(__x:
typel.

Find2(W:
W-pgdn, !,
typed.

£ind2(W):

W=pgup.,!,
typel.

Find2CW -
W=esc, !,
clesrwindow,
shiftwindow(3),
clesrwindow,
shiftwindow(11l},
typell.

Find2(_>:
tvpel.

Find3(W:
W=pgdn, !,
typed.

Find3(W):
W=pgup,
type?.

—

Find3(W): -
Woeze, !,
clearwindow,



shiftwindow (3},
clearwindow,
zhiftwindow{1il},

typell,
Find3d _»:-
tveoed.
Findda{¥y: -
Wopgup, !,
typed.

Tindd(¥W):
ﬂ—pwﬁ vy

indow,

indow(3},

3T W
W
window,
W
1.

ifL

[P

indow( 11}

%mwww
(0

chwooom 0

AT
L -
N
p1
21

*ypeé
typedl:-
clesrwindow,
Field str(@®,46,6,"Page 17},
Pield _sttr(P,46,6,74),
field str(2,1,50, The Rnowledge Base represents the memory
of the" ),
Fiegld _str(3,1,50, "FONAL.In FONAL,the knowledge base is &
DYNAMIC ",
Field _=ttr(3,1,5,74),
Fimld attr(3,18,5,74%,
fiald _attr(3,4@,7.,77),
FTield_str (4,1,5@,"database i.e.,the facts s&re included
during the” ),
Fiald _str(5H,1,58, execution of the program. The addition
of the "3},
Fizld etr(B,1,58, facts is done nNsSing the asgsertz
predicste.The 73,
d_attr(B, Zu,7 7e,,
d =str(?7,1,58, sertz predicate adds the fact 5t the
end of fhP 7
tr{7, 1,«,7?

r{g,1,58, 5ame type of the fact . The deletion of
fact is" Y,
#2214 etr(9,1,580, "done by the retract predicate.
addition of the” X,
ttI'g 13, 7,ee¥,
r{1@,1,50, same fact is not sllowed in FOMNAL.

oo

the FTacts' ),

i3l

=1

The

All



abtr(18,28,5,742,
stri1l,1,5@, are stored in the file ‘word.lstt .0,
_attr{11,25,8,772,
window( 8@},
‘window,
r(@,22,35, " Esc->Intromenu, Pgdn->Next page’ 1,
tr(@,22,35,74,
A\‘

i3

=arwindow,
I3 i

aniftwindow(ily

v
>
~3 ™D
o
N

e N

id file operstions in FONAL" I,

b

8
Str{l , 3@, " Va
ELtr{1,26,5,787,
I T T 1 R e Y,
1 attr{2,1,38,77,
d _stri4,2,18,7 1. CREATE" },
d _astri4,28,1@,"5.DELETE" },
4 stri6,2,16,"2.COPY" ),
_atr(6,26,16, "5 .DISPLAY" },
atr{8,2, @,”5.LIDTOUT"‘,
_=ty(8,28,18,"7 . LIST" ),
trl1i@, 2,18, “4 MERGE™ 3,
“1 ”@ 1@, 8 .SHWAP" 3,

o 1u,”9 RENAME™ .
1%, " 18 . COMPARE" ¥,

2@ .42, Press Esc->Intromenu, Pgup-»Previouns

Ll






/% KNOWLEDGE BASE operations %/

predicates

checkfactl(string)
checkfact2(string’
printl

printi

print3

checkl(Key)
check2(Key)
check3(Key)

go3l

g032

g033

go3d

go3b

go36

go37

g038

godl

god?2

2043

godd

godbd

go46

go47?

2048
checkll(RKey)
checkl2(Key)
checkl3(Key
checkl14(Key)
checkl15(Rey)
checkl6(Key)
checkl1?(Key)
check18(Key)
checkZ21(Key)
check22(Key)
check23(Rey)
check24(Key)
check25(Key)
check28(Key)
check27(Rey)
check28(Rey)
checknoun(string)
checkpro(string’
checkverb(string’
checkkverb(string?
checkprep(string)
checkadi(string)
checkart(string)
checksux(string)
checklnoun(string)
checklpro{(string)



checklverb(string’
checklkverb(string)
checklprep(string’
checklasdi(string)
checklart(string)
checklsux(string’

clauses
done: -
clearwindow,nl,
shiftwindow(7?3,
printl.

printl:-
clesarwindow,
shiftwindow(8},
clearwindow,

field_str(2,5,20," 1 KNOWLEDGE ADDITION":.

field attr(2,4,22,151),

field_str(5,5,20," 2 .KNOWLEDGE DELETION").

field attr(5,4,22,1277,

field_str(8,5,20,"3.EXIT TCO MAIN MENU"),

field_sttr(8,4,22,127),
readkey(Rey),
checkl(Key).

checkl(Rey): -
RKey=up, !,
print3.

checkl(Key):—-
Key=down,!,
printZ.

checkl(Key): -
Rev=cr,!,
clearwindow,
shiftwindow(9),
go31,
clearwindow,
shiftwindow(7),
printl.

checkl(_»:-
printl.

printd:-
clearwindow,
shiftwindow(8},
clearwindow,

field_str(2,5,20,"1 KNOWLEDGE ADDITION"},

field_attr(2,4,22,127),

o~



field _str(5,5,28,"2 KNOWLEDGE DELETION"
field attr(S 22,151;,

field str(8,5,2@,"3.EXIT TO MAIN MENU"
Field attr(3,4,22,127%,

resdkev(RKey ),

checkZ(Key).

check2(Rey):-
Rey=up, !,
printl.

check2(Reyy: -
RKey=down, !,
print3.

check2(Rey): -
Key=cr,!,
clearwindow,
shiftwindow( 183,
godl,
clearwindow,
shiftwindow(7?>,
printz.

check2(_):-
print2.

print3:-
clesrwindow,
shiftwindow(8),
clesrwindow,

field_str(2,5,20,"1.KNOWLEDGE ADDITION"),

field_attr(2, 4,22 1273,
field_str(5,5,28,"2 KNOWLEDGE DELETIOR”
field_attr(5,4,22,127},

field str(8,5,26,"3.EXIT TO MAIN MENU"
field_sttr(8,4,22,151},

resdkey(Key ),

check3(Rey.
check3(Key):-
Key=up,!,
print2.
check3(Key: -
Key=dowrn, !,
printl.
check3(Rey): -
Key=cr,!,
clearwindow.

check3(_:-
print3.

)



go3l:-
clearwindow,
shiftwindow(8Y,
fieldmstr(1,2,13,“1.PRONDUN”},
field_sattr(1l,1,14,151},
field str(1,22,16,"2 .NOUN",
field_sttr(1,21,11,4983,
field str(4,2,13,"3.KEYVERB" ),
field_attr(4,1,14,49),
field str(4,22,16,"4 VERB"},
field_sattr(4,21,11,49),
field_ﬁtr(7,2,13,"5.ADJECTIVE“},
field _sttr(7,1,14,49%,
field str(7,22,18, 6. ARTICLE" ),
field _attr(7,21,11,49),
field_ﬁtr(1@,2,13,”?.PREPOSITIDN")>
field_attr(1®,1,14,49},
field_str(l@,ZZ,1@,"8.AUX.VERB“},
field _sttr(16,21,11,49),
shiftwindow(88 7},
clearwindow,
field _str(®,7,26,"Press ESC to gquit sddition” .
field_attr(#,7,26,74},
resdkev(Rey),
checkl1l(Key).

checkll(Reyj:-
Key=1left,!,
clesrwindow,
g038.

checkll(Key): -
Kev=right,!,
g2032.

checkll(Key )y :-
Rey=up,!,
g037 .

checkll(Rey -
Revz=dowrn, !,
g033.

checkll(Key): -
Rey=esc, ! .

checkll(Rey): -
Key=cr,!,
clearwindow,
checkfactli(nounl’y,
go3l.

check11(_%:-
go31.



go32: -
clesrwindow,
shiftwindow(8),
field_str(l,Z,lB,”l.PRONDUN"},
field sttr(i,1,14,493,
field_ﬁtr(1,22,1@,"2.NOUN"),
Field attr(1,21,11,151%,
field_str(é,z,13,"3.KEYVERB"),
field sttr(4,1,14,49),
field_str(4,22,1@,“4.VERB”),
field sttr(4,21,11,49),
field_str(?,z,13,“5.ADJECTIVE“),
field attr(7,1,14,49)},
field_str(7,22,1@,"S.ARTICLE"},
fField sttr(7,21,11,49),
field_str(l@,z,13,"7.PREPDSITION”},
field attr(1@,1,14,49),
field_str(lB,ZE,1@,"8.AUX.VERB"),
field sttr(16,21,11,493,
shiftwindow (88},
clesrwindow,
field str(®,7,26, Press E5C to quit addition”
field sattr(@,7,26,74%,
readkey(Reyy,
checkl12(Key).

checkl12(Rey):-
Key=right,!,
go33.

checkl1Z2(Key:
Key=left,!,
godl.

check12(Rey
Key=up, !,
g038.

checkl2(Key):
Rey=down, !,
go34.

{

checkl12(Key»:
Keyv=esc, .

checkl12(Key): -
RKey=cr, !,
clearwindow,
checkfactl(nouny,
go32.

checkl2(_):-
go32.
go33: -

)]
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shiftwindow(38},

clesarwindow,
field_str(l,z,13,"1.PRONQUN“},
field_attr(1,1,14,49),

field str(1,22,18,"2 . 80UN"},

field attr(1l,21,11,49),

field str(4,2,13,"3.REYVERB"},
field sttr(4,1,14,151),

field str(4,22,18,"4.VERB" },

field attr(4,21,11,49),
field_ﬂtr(?,z,13,"5.ADJECTIVE”},
field_sattr(7,1,14.,48),
field_gtr(?,zz,1@,“6.ARTIELE“)>
Field attr(7,21,11,49;,
field_ﬁtr(lﬁ,z,13,"?.PREPOSITION"},
field _attr(16,1,14,49),
field_ﬂtr(lﬁ,ZB,1@,"8.AUX.VERB“);
Field sttr(i1@,21,11,49},
shiftwindow(88,

clearwindow,

field str(B,7.268, Press ESC to auit sddition” .
field_sattr(@,7,26,74%,
readkey(Reyy,
checkl13(Key ).

check13(Rey): -
Key=left,!,
clearwindow,
g032.

checkl13(Rey): -
Rey=right,!,
clearwindow,
g034.

checkl13(Reyy: -
Key=up,!,
clesrwindow,
go3l.

checkl13(Rey):-
Key=down, !,
clesrwindow,
g035.

checkl13(Rey): -
Rey=esc, !,
clesrwindow.

checkl13(Key): -
Rey=cr,!,
clearwindow,
checkfacti(verbl},
g033.



checkl3(_):~
clearwindow,
g033.

go34: -
shiftwindow(87,
clearwindow,
field str(1,2,13,"1.PRONOUN"},
field attr(1,1,14,498%,
field_str(1,22,16, 2 . HOUR"},
field attr(1,21,11,48},
field str(4,2,13,"3.KEYVERB" ),
field_sattr(4,1,14,49),
field_str(4,22,18,"4 .VERB" ,
field_attr(4,21,11,151),
field str(7,2,13,"5.ADJECTIVE" ),
field sttr(7,1,14,49},
field str(7,22,10,"6 ARTICLE" »,
field sttr(7,21,11,487,
field str(1®,2,13,"7.PREPOSITION",
Field _attr(16,1,14,49},
field str(16,22,18,"8 AUX.VERB"},
field sattr(1®,21,11,49),
shiftwindow (860},
clearwindow,
field_str(®,7,26, "Press E5C to guit addition” .
field_sttr(®,7,26,74),
readkey(Key},
check14(Rey}.

checkl4(Rey):-
Key=right,!,
clearwindow,
g035.

checkld4(Rey): -
Key=left,!,
clearwindow,
g033.

checkl4(Rey):-
Key=up.,!,
clearwindow,
g032.

checkld(Rey): -
Rev=doun, !,
clearwindow,
g036.

checkl4(RKey): -
Reyv=esc, !,
clearwindow.

checkld(Keyr: -



Key=cr, !,
clesrwindow,
checkfactli(verbl),
go34.

checkld( -
clearwindow,
g034 .

go3b:-
shiftwindow(8),
clearwindow,
field str(1,2,13,"1.PRONOUN" »,
field_attr(l,1,14,49;,
field_str(1,22,16,"2 NOUN",
field_sttr(1,21,11,48),
Ffield stri{4,2,13,"3.KEYVERB" "},
field_=attr(4,1,14,498),
field_=str(4,22,18,"4 . VERB" },
field sttr(4,21,11,49),
field str(7,2,13,"5.ADJECTIVE" },
field_attr(7,1,14,151),
field_str(7,22,18,"6.ARTICLE" },
fField_attr(7,21,11,49},
field_str(16,2,13,"7.PREPOSITION" },
field sttr(i10,1,14.,498),
field_ s=str(16,22,18,"8.AUX.VERB" },
field_attr(19,21,11,498),
shiftwindow(86),
clearwindow,
field str(®,7,26,"Press ESC to quit addition”’,
field sttr(8,7,26,74,
readkey(Rey),
checkl1l5(Key ).

checklb(Key):~-
Key=left, !,
clearwindow,
go34.

checklb5(Rey)y: -
Key=right,!,
clearwindow,
g038.

checklb(Key: -~
Rey=up,!,
clesrwindow,
g033.

checkl15(Key): -
Rey=down, !,
clearwindow,
g037.



checklb(Rey):-
Key=cr, !,
clearwindow,
checkfacti(adiy,
g035.

checklb(_J:-
clearwindow,
g035.

go3b: -
shiftwindow (8,
clesrwindow,
field str(1,2,13,"1.PRONOUN" .,
field_sttr(l,1,14,49),
field_str(l1,22,18,"2 . HOUR" ,
Field_ attr(l1,21,11,49},
field_str{(4,2,13,"3.KEYVERB" },
field_attr(4,1,14,49),
field_=str(4,22,108,"4 VERB"},
field_attr(4,21,11,485,
field_str(7,2,13,"5.ADJECTIVE" ),
field_sttr(7,1,14,49),
field_str(7,22,18,"6 . ARTICLE" },
field_sttr(7,21,11,151),
field_str(16,2,13,"7.PREPOSITION" },
Field_sttr(16,1,14,49),
field str(16,22,18, "8 . AUX.VERB" ),
field_attr(18,21,11,493,
shiftwindow(88),
clesrwindow,
field_str(@,7,26, "Press E3C to quit sddition”;,
field attr(®,7,26,74,
readkey(Rey),
checkl16(Rey).

checklB(Reyy: -
Rey=right,!,
clesrwindow,
go37.

checklB8(Rey)y: -
Key=left,!,
clesrwindow,
g035.

checklB6(RKeyly: -
Key=up, !,
cleasrwindow,
go34.



checkl1B(Reyy:-
Rev=down, !,
clearwindow,
go38.

checkl6(Reyy:-
Rev=esc, !,
clearwindow.

ey=cr,!,

lesrwindow,
checkfacti(art?},
go36.

checkl1B6(Rey): -
K
C

checkl1B6(_»:-
clearwindow,
go38.,

go37¢: -
shiftwindow(8},
clearwindow,
field str(1,2,13,"1.PROROUN"},
field sttr(1,1,14,483},
field str(1,22,16,"2 NOUN"},
field_attr(1,21,11,48)},
field _str(4,2,13,"3.KEYVERB" },
field_sttr(4,1,14,48),
field str(4,22,16,"4.VERB" ),
field_sttr(4,21,11,49),
field str(7,2,13,"5.ADJECTIVE"},
field_sttr(7,1,14,48;,
field str(7,22,18,"6.ARTICLE" ),
field_sattr(7,21,11,49),
field_str(lﬁ,z,13,”7.PREPOSITION"),
field_sttr(1@,1,14,151),
field str(16,22,16, 8. AUX.VERB "},
field_attr(18,21,11,49),
shiftwindow(88,
clesrwindow,
field str(®,7,26, " Press E5C to gunit sddition” ),
field_sattr(@®,7,26,74,

readkey(Revy,
checkl?(Rey ).
checkl7(Rey): -
Key=left,!,
clearwindow,
g036.
checkl17(RKey): -

Key=right,!,
clesrwindow,
go38.

19



checkl7(Rey): -
RKey=up, !,
clearwindow,
go35.

checkl7(Keyy: -
Rey=down, !,
clearwindow,
go3l.

checkl1?7(Key): -
Rey=esc, !,
clearwindow.

checkl17(Key):-
Key=cr, !,
clearwindow,
checkfactl(prep),
go37.

checkl17?(_y:-
clesrwindow,
ga37.

go38:~
shiftwindow(9},
clearwindow,
field str(1,2,13,"1.PROROUN" ,
field_attr(l1,1,14,493,
field_str(1,22,16,"2.NOUN" ),
Field_sttr(1,21,11,493,
field_str(4,2,13,"3.KEYVERB" },
field_attr(4,1,14,493,
field_str(4,22,18,"4 . VERB" },
field_sttr(4,21,11,49;,
field _str(7,2,13,"5.ADJECTIVE" },
field_sttr(7,1,14,49),
field_str(7,22,168,"6.ARTICLE" },
field_sttr(7,21,11,48)>,
field _str(16,2,13,"7.PREPOSITION" },
Field_attr(1®,1,14,493,
field_str(10,22,16,"8.AUX.VERB" Y,
field sttr(18,21,11,151%,
shiftwindow(88),
clearwindow,

field str(@,7,26,"Press ESC to guit addition”™ .

field sttr(@,7,26,74},
readkey(Keyy,
checkl18(Rey).

checkl1l8(Key): -
Key=right,!,
clesrwindow,
go31.
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~heck18(RKey;: -
Key=z=left, !},
clearwindow,
go37.

checklB8(Key): -
Key=up, !,
clesrwindow,
go36.

checkl18(Reyy: -
Key=down, !,
clesrwindow,
g032.

check18(Keyy: -
Rev=esc, !,
clesrwindow.

checkl18(Rey): -
Key=cr,!,
clearwindow,
checkfacti(anxy,
go38.

check18(_J:-
clearwindow,
E038.

godl: -
shiftwindow(18},
clesrwindow,
field str(1,2,13,"1.PRONOUN"},
field_sttr(1,1,14,151},
field_str(1,22,18,"2 ROUN"},
field asttr(1,21,11,48),
field _str(4,2,13,"3.KEYVERB" ),
field_sttr(4,1,14,483,
field_str(4,22,18,"4.VERB" },
field_sttr(4,21,11,49)},
field _str(7,2,13,"5.ADJECTIVE" ),
field_ sttr(7,1,14,49,
field str(7,22,18," "6 ARTICLE" ),
field_sttr(7,21,11,48,
field_str(1@,2,13,"7.PREPOSITION" },
field attr(1@,1,14,49;,
field_str(16,22,18,"8 . AUX.VERB" },
field_attr(16,21.11,48),
shiftwindow(88),
clearwindow,
field_str(®,7,26, Press Esc fto quit deletion™ .
field_sttr(@,7.,26,74),
readkey(Key},
check21(Key}.



check21(RKey -
Key=left,!,
clesrwindow,
go48.

check21{(KRey): -
Rey=right.,!,
clearwindow,
2042 .

check21l(Key):-
Rey=up, !,
clesrwindow,
god?.

check2l(Rey): -
‘Rey=down, !,
clesrwindow,
god3.

checkhZli(Key2:-
Rey=esec, !,
clearwindow.

check?2l(Key): -
Reyz=cr, !,
clearwindow,
checkfsctZ2(nounl’,
godl.

check21( _):-
clearwindow,
godl.

2042: -
shiftwindow(19;,
clesrwindow,
field str(1,2,13,"1.PROROUN"},
field_attr(1,1,14,483,
field str(l1,22,18,"2 . BOUN" .,
field_sttr(1,21,11,1513,
field _=tr(4.,2,13,"3.KEYVERB" },
field_attr(4,1,14,48;,
field_str(4,22,16,"4 . VERB" },
field_sattr(4,21,11,48),
field_str(7.2,13,"5.ADJECTIVE" },
field_sttr(7,1,14,495,
field_str(7,22,18,"6 . ARTICLE" },
field_sttr(7,21,11,49>,
field _str(1@,2,13,"7.PREPOSITION" },
field sttr(16,1,14,48%,
field str(10,22,16,"8. AUX.VERB" },
field_sttr(16,21,11,49),

shiftwindow(887},

13



clearwindow,

field _str(®,7,26," "Press ESC to anit deletion” .

field sttr(@,7,26,%4),
readkey(Key,
check22(Rey ).

check22(Reyy:—
Rey=right,!,
clesrwindow,
god3.

check2Z2(Reyr: -
Rey=l1left,!,
clearwindow,
godl.

check22(Key): -
Key=up., !,
clesrwindow,
gods.

check22(RKey -
Key=down, !,
clearwindow,
godd .

check22(Rey:-
Key=esc, !,
clesrwindow.

check22(Key):-
Key=cr,!,
clearwindow,
checkfsct2(nouny,
god?2.

check22(_J):-
clearwindow,
godd.

g0o43: -
shiftwindow(18 ),
clesrwindow,
field str(1,2,13,"1.PROROUN",
field sttr(1,1,14,48,
field str(1,22,168,"2 NOUN"},
field _sttr(1,21,11,49>,
field =str(4,2,13,"3.KEYVERB" },
field attr(4,1,14,151%,
field_str(4,22,16,"4 . VERB" ,
field_=ttr(4,21,11,438),
field str(7,2,13,"5.ADJECTIVE" ),
field attr(7,1,14,48),

field_str(7,22,106,"6.ARTICLE" ),

14



field sttr(7,21,11,48;,

field str(1$,2,13,"7.PREPOSITION" ¥,
field attr(16,1,14,497,

field str(18,22,164, "8 AUX.VERB" .,
field_attr(16,21,11,497,
shiftwindow(8@),

clearwindow,

field =str(®,7,286, " "Pre=ss E3C to qguit deletion”

field_attr(@.,7,26,74),
resdkey(Keyy,

check23(Reyv}.
check23(Key): -
Key=left,!,
eclearwindow,
godz,
check23(Reyy: -

RKey=right,!,
clearwindow,
god4d .

check23(Reyy: -
Key=up, !,
clearwindow,
godl.

check23(Rey:-
Keyv=down, !,
clesrwindow,
go4bH.

check23(RKey): -
Key=esc, !,
clearwindow.

check23(Key: -
Rey=cr,!,
clearwindow,
checkfact2(verb),
go43.

check23(_>:-
clesrwindow,
god3.

godd: -
shiftwindow(18 ),
clearwindow,
field str(l,2,13, " 1. PRONOUN" ),
field_attr(1,1,14,49,
field_str(l1,22,18,"2.NOUN" ),
field sttr(1,21,11,48),

field str(4,2,13,"3.REYVERB" ;,

T
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field attr(4,1,14,48},

field str(4,22,18,"4 .VERB" ),

field asttr{4,21,11,151},

field str(7,2,13,"5.ADJECTIVE" },
field attr(7,1,14,493,

field str(7,22,16,"6.ARTICLE" },
field_sttr(7,21,11,49},

field str(18,2,13,"7.PREPOSITION" ),
field_ attr(1@,1,14,48),

field str(1@,22,10,"8.AUX.VERB" },
field sttr(10,21,11,49),
shiftwindow(388,

clearwindow,

field str(®,7,28, " Press ESC to guit deletion” .
FTield sattr(B,7,26,74,
resdkey(Revy,

check24(Key).

checkZ24(Rey): -
Rey=right,!,
clearwindow,
godb.

check24(Key): -
Key=left,!,
clesrwindow,
go43.

"checkZ24(Reyy:-
Key=up, !,
clearwindow,
go42.

check24(Reyr: -
Key=down, !,
clearwindow,
g046.

check24(Rey): -
Key=esc, !,
clearwindow.

check24(Keyy: -
Key=cr,!,
clearwindow,
checkfact2(verbl},
godd .

check24(__3:~

clesrwindow,
godd

g0o4db5: -



shiftwindow(1¥),

clearwindow,

field str(1,2,13,"1.PRONOUN" »,
field sttr(1,1,14,49,

field str(1,22,18,"2.H0UNR" ),
field_sttr(1,21,11,48)},

field _str(4,2,13,"3.KEYVERB" },
field_sattr(4,1,14,495,
field_str(4,22,160,"4 VERB" },
field_sattr(4,21,11,49},

field str(7,2,13,"5.ADJECTIVE" },
field_sttr(7,1,14,151%,
field_str(7,22,10," "6 ARTICLE" },
field_sttr(7,21,11,48),

field str(1%,2,13,"7.PREPOSITION" },
field_sttr(19,1,14,49},

field str(16,22,16, "8 AUX.VERB"J,
field attr(18,21,11,49,
shiftwindow(88),

clesrwindow,

field str(®,7,26, "Press ESC to quit deletion” ¥,
field_sttr(@,7,26,74},
readkev(Key,

check25(Key ).

check25(Keyy: -
Key=left,!,
clearwindow,
god4d .

check25(Rey): -
Key=right,!,
clearwindow,
gods .

check25(Key : -
Rev=up, !,
clearwindow,
go43.

check25(Rey )~
Key=down, !,
clearwindow,
god7.

check?25(RKey): -
Rey=esac, !,
clesrwindow.

check25(Rey): -
RKey=cr,!,
clearwindow,
checkfact2(adi’,
go45.



~heck2b(_y:—-
clearwindow,
go4dh.

gn46: -
shiftwindow(18;,
clearwindow,
field str(1,2,13," 1 . PRONOUN" »,
field sttr(1,1,14,48%,
field str(1,22,18,"2. NOUN"},
field_attr(1,21,11,48%,
field str(4,2,13,"3.KEYVERB" ),
field_sttr(d,1,14.,498),
field str(4,22,18,"4 VERB" ).
field_sttr{4,21,11,48},
field str(7,2,13,"5.ADJECTIVE" },
field_sttr(?,1,14,48),
field str(7,22,16,"6.ARTICLE" },
field_sttr(7,21,11,151),
field str(16,2,13,"7.PREPOSITION" },
field_atir(16,1,14,48;,
field _str(18,22,10, "8 AUX.VERB" ,
field sttr(16,21,11,48;,
shiftwindow (88,
clesrwindow,
field str(®,7,28, Press ESC to quit deletion” .,
field_sttr(@,7,26,74,
readkev(Key),
check28(Key).

check26(Rey): -
Key=right,!,
clesrwindow,
go4d7 .

check26(RKey): -
Key=1left,!,
clearwindow,
go4dh.

checkZ26(Key): -
Key=up,!,
clearwindow,
god4d .

check26(Key): -
Key=down, !,
clearwindow,
god8.

check28(Rey): -
RKev=esc, !,

clearwindow.

check26(Rey): -
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Key=cr,!,
clesrwindow,
checkfact2(art},
g0406 .

check2B6(_):-
clearwindow,
god6 .

god7 -
shiftwindow(18:,
clearwindow,
field str(1,2,13," 1. PRONOUN" },
field_ sttr(l,1,14,49,
Field str(1,22,18,"2 . ROUN" ),
field_sattr(1,21,11,49),
field str(4,2,13,"3.KEYVERB" .
field_attr(4,1,14,49,
field_str(4,22,16,"4 .VERB" },
field_sttr(4,21,11,49%,
Field str(7.,2,13,"5.ADJECTIVE"},
field sttr(7,1,14,498;,
field str(7,22,10, "6 . ARTICLE" },
field_sttr(7,21,11,49},
field str(1$,2,13, " 7.PREPOSITION" },
field sttr(1@,1,14,151;,
field str(1%,22,16,"8.AUX.VERB" },
field attr(16,21,11,49),
shiftwindow (8@},
clesrwindow,
field _str(®,7,26, Press E3C to auit deletion”
field sttr(®,7,26,74),
readkey(Rey),
check27(Key).

"

check27(Keyy:-
Key=right,!,
clesrwindow,
go4d8.

check27(Reyy: -
Key=1left,!,
clearwindow,
godb .

check27?7(Reyj: -
Key=up, !,
clesrwindow,
godb.

check27(Keyy: -
Kev=down, !,
clesrwindow,
godl.
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check27(Rey»: -
Key=esc, !,
clesrwindow.

check27(Rey -
Rey=cr,!,
clesrwindow,
checkfact2(prepy,
god? . '

~heck2?(_):-
clearwindow,
god7 .

godBd: -
shiftwindow(187},
clesrwindow,
field_str(1,2,13,“1.PRDNOUN”):
field attr(1,1,14,483,
field str(1,22,18,"2.HO0UR",
field _attr(1,21,11,49;,
field str(4,2,13,"3.KEYVERB"},
field sttr(4,1,14,48;,
field str(4,22,18,"4.VERB "},
field _sttr(4,21,11,49},
field_ﬁtr(?,Z,13,”5.ADJECTIVE“},
field_sattr(7,1,14,48;,
field str(7,22,18,"6 . ARTICLE" ),
field _sttr(7,21,11,493,
field_str(l@,Z,13,“?.PREPOSITIDN“}5
field _sattr(18,1,14,49),
field_str(l@,ZZ,l@,"S_AUX,VERB"};
field attr(1@,21,11,151},
shiftwindow{3&},
clesrwindow,
field str(®,7,26, Press ESC to aqunit delstion” i,
field_sttr(B,7,26,74},
resdkey(Rey ),
check28(Key ).

check2B8(Rey -
Key=right,!,
clesrwindow,
godl.

check28(Rey ) : -
Key=left,!,
clearwindow,
god?.

check28(Key): -
Rey=up,!.,
clesrwindow,
g046.



check28(Key -
Kev=down, !,
clearwindow,
godz.

checkZ8(Key): -
Key=esc, !,
clearwindow.

check28(Key): -
Key=cr, !,
clearwindow,
checkfactZ2(sux’,
g048.

check28(_):-
clearwindow,
god8.

/% fact addition */

checkfact1(Fly:-
Fi="noun",!,
shiftwindow(8),
clesrwindow,
write("Enter the noun to be added” ,nl,
readin(R1),
npper_lower(R,R1),
checknoun(R}.

checkfactl(Fl):-
Fi="nount".,!,
shiftwindow(98),
clearwindow,
write("Enter the pronoun to be added”},.nl,
readln{R1},
npper_lower(R,R1l},
checkpro(R}.

checkfact1(Fl):-
Fi="verb",!,
shiftwindow (9},
clesrwindow,
write("Enter the keyverb to be sdded” 3,nl,
readln(R1l}, '
upper _lower(R,R1>,
checkkverb(R).

checkfact1l(F1}:-
Fi="verbl”,!,
shiftwindow (98},
clearwindow,

write( "Enter the verb to be added” i,nl,
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resdln{R1},
npper_lower(R,R1%,
checkverb(R).

checkfactl(Fl):-
Fi="=adi".,!,
shiftwindow (9},
clesrwindow,
write("Enter the adjective to be added” 3,01,
resdlin(R1},
unpper_lower(R,R1),
checkadi (B>,

checkfact1(Fl):-
Fiz="prep”,!.,
shiftwindow(9),
clesrwindow,
write("Enter the preposition to be sdded” ¥y.nl.
readlin(R1},
npper_lower(R,B17,
checkprep(R).

checkfactl(Fl):-
Fi="srt",!,
shiftwindow(9),
clearwindow,
write("Enter the srticle to be added” },n’,
readin(R1},
npper_lower(R,R13,
checkart(R>.

checkfactl(F1l):-
Fi="aux",!,
shiftwindow(97,
clesrwindow,
write("Enter the suxillary to be added” y.,nl,
readin(R1},
npper_lower(R,R1},
checkaux(R>.

checknoun(R}: -
not{(noun(Ry}, !,
asssertz(noun(R}>,
cursor(5,4},
write("The fact NOUN(",R,”
cursor(7,7),
write("has been added.” 7},
cursor(12,8),
write("Press sny key to continme”},
readkev(_),
clesrwindow,
aave! "word.lst” ).

R

checknoun(R}: -



curzsor(bH,4),

write("The Tsct HOUW(",R,"F "%,
enrsor (7,77,

write("is slresdy present.” 7,
enrsor( 12,87,

write("Press sny kev Lo continue’ i,
resdkev(__},

clearwindow.

checkpro(Ry: -
not(nounli(Ryy,!
sasertz(nounl R
cursor(h,43,
write("The fact PRONOUN(" ,R,"» ",
enrsor(?,7),
write( "has been added.”},
cursor(l2,8),
write("Press any key to continue’ ),
readkev(__),
clearwindow,
save{ "word.lst" ).

. ™

X

checkpro(R): -
cursor(s,4),
write( " "The fsct PRONODUN(C",R," 3 "X,
eursor(7?,77,
write("is alreasdy present.” .
cursor(l12,8},
write("Press any key to contirmme”},
readkey{(_),
clearwindow.

checkverb(R): -
not(verbl(R)>,!,
sasertz(verbl(R} ),
cursor(5,4,
write("The fsct VERB(",R,"} "7,
cursor(7,7},
write("has been sdded.”},
ceursor(12,8),
write("Press sny key to continue”},
reasdkey(_),
clearwindow,
save{'word.lst” ).

checkverb(R): -
ursor(5,4),
write("The fact VERB(",R,"> "X,
eursor(¥.77,
write("is alresdy present.”},
cursor(12,8),
write("Press any key to continue” ),
readkey(_>,
clearwindow.
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checkkverb(R):-
not{verb(R}),!,
assertz{verb(R}},
cunrsocr{(b,47,
write("The fact RKEYVERB(",R.,") "1,
cursor(7,77%,
write("has been added.” ),
cursor(12,87,
write( 'Press sny key 1o continue” 7,
readkey(_>,
clearwindow,
save( "word.lst” ).

checkkverb(R): -
cursor(s5,4,
write("The Fact KEYVERB(",R,"} ",
cursor(7,7},
write("is slready present.”},
cursor(12,8),
write("Press sny key to continue”),
reasdkey(_3,
clesrwindow.

checkart(R): -
not{art(Ry),!,
sasertz(art(R}},
cursor(b,47,
write("The fsct ARTICLE(",R."} "3,
cursor(?7,?),
write("has been sdded.”},
cursor(12,8),
write("Press any key to continme” ),
readkey{_),
clearwindow,
save( "word.lst” ).

checkart(Ry: -
cursor(d,47,
write("The fact ARTICLE(",R,"> "),
cursor{7,7),
write("is already present.” .
cursor(12,83,
write("Press any key Lo continue” ¥,
resdkev(_>,
clearwindow.

checkadi(RY: -
not(ad3(R>;, !,
assertz(adi(R},
cursor(5,4),
write("The fsct ADJECTIVE(",R,") "3,
cursor(7,7},
write( " hss been sdded.” 7,

cursor(12,8),
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write("Pre=ss any key Lo continue” 7,
readkey(__},

clearwindow,

asave( "word.lst” ).

checkadi(R): -
cursor(5H,47,
write("The fact ADJECTIVE(",BR,"» "1
cursor{7,7,
write("is slready present.”:,
cursor(12,83,
write( 'Press any key Lo continue” ¥,
readkey(_},
clesrwindow.

checkprep(R): -
not(prep(Ry), !,
sssertz(prep(R}},
cursor(5,47,
write("The fact PREPOSITIONC" ,R," )
cnrsor(?,7),
write("has been added.”},
cursor{l2,8),
write("Press any key to continue” },
readkev{(_>,
clearwindow,
save( "word.lst” .

checkprep(Ry: -
cursor(b,4),
write("The fact PREPOSITION(",R,"
cursori{?,7),
write("is slready present.”},
cursor(12,8),
write("Press any key Lo continme” ¥,
readkey(_>,
clesrwindow.

o

checksux(R}:-
not(sux(RY),!,
sssertz(aux{R>},
cursor(9H,43,
write( "The fact AUXVERB(".R,">
cursor(7?,77,
write("has been azdded.”},
cursor(12,87,
write("Press any key Lo continue” },
readkey(_),
clearwindow,
save( "word.lst" .

L

checkasnx(R): -



cursor(b,4},

write("The fsct AUXVERB(",R."» "I,
cursor(?,7,

write("is alresdy present.” ),
cursor(12,8),

write("Press any key to continue” .
readkey(__J,

clesrwindow.

/% fact deletion ¥/

checkfact2(F2):-
F2="noun",!,
shiftwindow(18),
clesrwindow,
write("Enter the noun to be deleted”r,nl,
readln{R1},
npper_lower(R,R1},
chechklnound(R).

checkfact2(F2):-
FZ2="nounl”,!,
shiftwindow (18},
clesrwindow,
write("Enter the pronoun to be deleted”),nl,
readln(R1},
npper_lower(R,R1),
checklipro(R:.

checkfactZ(F2):-
F2="verb",!,
shiftwindow(18},
clearwindow,
write(" Enter the kKeyverb Lo be deleted”}.nl.
readln(B1},
upper_lower(R,R1},
checklkverb(R}.

checkfact2(F2):-
F2="verbl”,!,
shiftwindow(18),
clearwindow,
write("Enter the verb to be deleted”},nl,
readln(R1},
upper_lower(R,R13,
checklverb(R).

checkfact2(F2):-
Fz="sdi",!},

shiftwindow(18},
clearwindow,

write("Enter the sdjective to be deleted” ».nl,
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readln(R1},
npper_lower(R,R1},
checkladi{R).

checkfFeact2(F2):-
F2="prep”,!,
shiftwindow (18,
cglearwindow,
write("Enter the preposition to be deleted”.nl,
readln(R1},
upper_lower(R,R1l},
checklprep(R).

checkfact2(F25:-
Fa2="art",},
shiftwindow(18 7,
clearwindow,
write("Enter the article to be deleted”),nl.
readln(R1l},
upper_lower(R,R1),
checklsrt(R}.

checkfact2(F2):-
FZ2="aux",!,
shiftwindow(18},
clesrwindow,
write("Enter the suxillary verb to be deleted”,nl,
readlin(R1),
npper_lower(R,R17,
checklanx(R}.

checkinoun(R): -
noun{Ry, !,
retract(noun{Ry)J,
enrsor(H,4),
write("The fact NOUN(",R.,"¥ "),
cnrsor(?,7),
write("hss been deleted.” ),
cursor{l12.,8),
write("Press =mny key to continune”},
readkey(_Y,
clearwindow,
save(“"word.lst"” .

checklinoun(R}: -
cursor(H,43,
write( "The fact HOUN(”,R,"> "3,
cnrsor(?,7,
write("is not svailasble.” ),
cursor(12,8),
write("Press any key fto continue’ ),
readkey(__},
clearwindow.

checklpro(Ry: -



nounli(R}, !,

retract(nonni{R)}.

cursor(5,47,

write("The fact PRONOUN(",R,"J "1},
cuarsor(7.,7),

write("has been deleted.” 3,
cursor(12,8),

write("Press any key to continue’ ;,
resdkev(_J,

clesrwindow,

save! "word.lst” ).

checkhlpro(R):-
cursor(5,47,
write("The fsct PRONOUN(",R,"» 7
cursor(7,7%,
write("is not availsble.”},
cursor(12,87,
write( "Press sny key to contimme”},
readkey(_J,
clesrwindow.

e

checklkverb(R): -
verb(R},!,
retract(verb(R}>,
cursor(95,47,
write("The fact REYVERB(",R," > "7,
cursor(7,77,
write("hss been deleted.” ),
cursor(12,8;,
write("Press any Key to continue’ ),
readkey(_),
clearwindow,
save! "word.lst" .

checklkverb(R): -
cursor(5,4>,
write("The fact KEYVERB(",R,": "I,
cursor{7,7?3,
write("is not asvailable.” )},
cursor(12,8),
write("Press any key fto continue”},
readkev(_>,
clearwindow.

checklverb(R): -
verbl(R},!,
retract(verbl(R}>,
cursor(H,47,
write("The fact VERB(",R," "),
cursor(7.,7),
write("has been deleted.”},

N

cursor(12,83,



write("Pre=ss sny key to continue”’,
readkey{_7,

clearwindow,

sgve( "word.lst” ).

checklverb(R}):-
cursor(5,47,
write("The fact VERB({",R,") "I,
cursor(?,7),
write("is not svailable.”»,
cursor{12.83,
write("Press any key to continue”},
readkey(_},
clesrwindow.

checklprep(R):~-
prep(R}., !,
retract(prep(R)},
cursor(5,47,
write("The fact PREPOSITION(",R,"» "I,
cursor(7,7%,
write( "has been deleted.” 3,
cursor(12,8),
write(“Press any key to contimme’},
readkey(_),
clearwindow,
save! "word.lst” .

checkliprep(R}:-
cursor(b,4),
write("The fmct PREPOSITION(",R,") "),
cursor(?,7,
write("is not svailable."},
cursor(12,8),
write("Press sny key to continue”},
resdkey(_),
clearwindow.

checklart(R): -
art(R}, !,
retract(art(R>>,
cursor(5,4},
write("The fact ARTICLE(",R,") "1},
carsor(7,7,
write( " has been deleted.”},
cursor{12,83,
write("Press any key to continue”},
readkey{(_>,
clearwindow,
sgve("word.lst" ).

checklart(R): -
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cursor(h,4,

write("The fact ARTICLE(",R,"» "I,
cursor(7,7,

write("is not availsble.” ),
cursor(12,8),

write( Press sny key Lo continme” ¥,
readkey( 2,

clesrwindow.

checkladi(R): -
adj(R),!,
retract(adi(R:},
cursor(5,43,
write("The fzct ADJECTIVE(",R.": RN
cursor{7,7),
write( " has been deleted.”},
cursor(12,8),
write("Press any key Lo continme” ),
resdkey(_7,
clesrwindow,
save("word.lst" ).

checklsdi(R):-
curscr(5,47,
write("The fact ADJECTIVE(",R.")> "3,
cursor(?,7 ),
write("is not avsilable.” ),
cursor{l12,83,
write("Press any key to continue” 3,
readkey(_},
clearwindow.

checklaux(R):-
sux(Ry, !,
retract(aux(R>)J,
cursor(5,4),
write("The fact AUXVERB(",R,"} "X,
cursor(?,?),
write("has been deleted.” ),
cursor(12,8),
write( 'Press any key to continue™ ),
resdkey(_},
clearwindow,
mavel "word. lst” .

checkisux(R)y: -
cursor(5,47,
write("The fmct AUXVERB(",R."} " I,
cursocr(7?,7),
write("is not availsble.” ),
carsor(12,8),
write("Press any key to continme”’,
readkev(_J,
clesrwindow.
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/¥ To do graphics *x/

# include <stdio.h>
¥ include <string.h>
¥ include <graphics.h>

void g();
int driver,x,w,v,2,1,node;

void g(val}
char valllbl;
{
start: driver=CGA;
mode=CGACL;
initgraph(&driver, &node, "
x=1;
w=1;
yv=319;
z=189;
For(i=1;1<=3@;i++)

=y

re ctanglp(w X, ¥,23;

Q.i:N%N
@ Houod

'—ﬂo--‘z.':\:%:

gotoxy(13,13);
printf("%s" ,val);
delav (1068 ;

if (getch(

{

textmode( };

1



J¥*

To merge any two given files X/

# include "grap.c”
# include <=tdio.h>

maind )

{

FILE *fpl,.kfp2,%fp3;
char fni{14l,fn2{143,fn3[14].sLr(86];
clrscr(y;
g FILE MERGE ",
clrscr(y;
printf{"\n Enter the first filename : "
scanf{"%s" ,fnly;
fpl=fopen(fnl.," v " 7;
if (fpl==""\@&")
{
printf{"\n The file is not existing...”:
goto end;
1
printf{"\n Enter the second filenzme
scanf("is" ., fn2);
fp2=fopen(fn2, " r"};
if (fpl2=="7\@"1
{
printf("\n The file i=s not existing...
goto end;
3
printf("\n Enter the merged filename : ";
scanf("%s" ,fn3y;
fp3=fopen{fn3d, "w" ;
if (fp3=="\@"}
{
printf{"\n Error in opening the file.";
goto end;

3
while(!feof(fpi))

{
fgets(str,88,fpl);
ferintf{(fe3,""4s” sty

3

while(!feof(fp2)

{
fgets(str,B88,fp2);
fprintf(fp3,"%s" ,str};

1

printf{"\n Merging hss been done successfully...:\n”

end:

3

fclose(fpl};
felose(fp2);
felose(fp3 ),

3



/% program to display the Ffile contents %/

# include <stdio.h>
# include “grap.c’

maind

L

FILE *fpl;
char str(88].ftn{l141;
clrscr(y;
g¢(" FILE DISPLAY "}:
clrser();
printf(" Enter the file To be displayed
scanf("%s",fn;
fpl=fopen(fn, """ };
while(!feof(fpll}
{
fgets(str,88,fpll;
printf("¥%s" ,str);
3
printf("\n The file has heen displayed "3
feclose(fply;
3



/% program to copy a file L ¥4

# define NULL "N@&°
# include <stdio.h>
# include "b:\e\grap.c’

naind )
{
FILE *fpl,*xfp2;
char str{s8@],fn1{251,fn2{25];

clrscr(};
g(" FILE COPY ");
clrser(y;

printf("\n Enter the sonrce file name : Yy
scanf("%s",fnl};
printf("\n Enter the destinstion file name : "3
scanf("%s" ,fnd%};

fpl=fopen(fnl, " r"};
if(fpl==NULL>

{
printf("\n The source file Y is not existing.”,fnll;
}
else
{
fpZ2=Ffopen(fnz, "w" »;
if(fpZ2==NULL>}
{
printf("\nError in creating the destination file ¥s .",fp2d;
H
else
{
while(ifeof(fpl}}
{
fgets(str,88,.fpl);
fputs(str,.fp2};
K
fclose(fp2);
gotoxy(5@,23%;
printf("\n The file has been copied. Ty

felose(fpll;

ot



/¥ Routine to delete a8 File %/

define MAX 25
define MAXLER 255
define NULL "\8~
include<stdio.h>
include<ctype.h>
include<string. h>
include<math. h>
include "grsp.c”

o= R R g

char fn{8];

int n;
struct

{

char Tld[MAX3[1@];

} rec{MAX];

char field{MAX3I[16];
int fld_no;

int rec_no;

main{
{
int i,3,no;
FILE xf1;

clrscr(};
g(” FILE DELETION " 3};
clrscr();

printf("\n Enter the filename to be deleted(with path:
scanf("%s" ,fn);
fi=fopen(fn,"v" );
if (f1==NULL}
{printf(” The file %5 is not existing. “n ,fnx;

3
else
{
unlink(fn);
printf(” The file %s has been deleted . " ,fn);
}



/% To list the files in the directory x/

include <dos.h>
include <dir.h>
include <string.h>
inclinde "grap.c”

T HE R

main()

{

struct ffblk *ff;
char *p,¥Xq,¥r;
int 1i;

clrscr( )
g("DIRECTORY LISTING" };
clrscr(y;

printf("\n Do you know how to enter the psth (Y/HX 2 ");
if (toupper(geteh(»¥=="Y"}

{
printf("\n Enter the path : "J;
scanf("%s",p);
}
else
{
printf(" Enter the directory name(A,B,C,D,E or F @ "3

scanf("%s",p);
streat(p, ")
rep:printf("\n How youn can Ssee Za\NK. K " ,p);
printf("Do you want enter the subdirectory of %s (Y/N3?7.,p);
if (toupper(getch(})=="Y )
{
printf(" \n Enter the sub directory name : "
scanf("%s" ,a7;
streat(p,"S\\" )
streat(p,qa’;
goto rep;
3
printf("\n Do you want the files with =any particular
extension (Y/N} 7" );
if (toupper(getch()i=="Y }
{
printf(" \n Enter the extension : "
scanf("%s" ,r);
streat(p, "“NK.");
strcat(p,r);
}
else
{
atrcat(p, "\N\K.XK" 3
3



Ceclrser();
printf("\n LISTING OF Zs\n",pJ;
if((findfirst(p,£ff,8)==0)

{
printf{"\n" );
1=@;
do{
printf("%s\n" ,ff->ff_name);
izi+l;
}while((findnext(FE)3{=(-1);
printf("\n\n (%d) files in the directory “nhn L1
K
else

printf("s\n HNo files in the directory (or} drive 1is not
existing "



{

else

gotoxy(45 247
printf(" The flle is being created. TN
delay{ 3800 ;
clrscr(},
printf(” \n Do you want to enter FTields (Y/N3 7 "33
if (toupper{getch(y=="Y’
{
clrscr();
prlntf( '\n Enter the number of fields: "y
scanf("%d" ,&no_f1ld);
for(i=1;1<=no_fld;i++)
{
printf("\n Enter the %d field name: ", 13
scanf("%s" ,field(i]);
fprintf(fl," %s",fieldlil’;
fprintf(f1,"%s","\8");
fprintf(f1,"\t">;

N

1
3
printf(" \n Do you want to enter Records (Y/N» 7 733
if (toupper(getch()}=="Y")
{
clrscr(};
prlntf( ‘\n Enter the number of records: "

scanf("¥d" ,&rec_nol;
for(j=1;j<=rec_no;j++)
{
for(iz=1;i<=no_Ffld;i++)
{
printf("\n Enter the data for - %¥d - record s %s
i flPldtl};,
scanf("¥s" ,rec{i].f1dlil};
13

for(j=1;j<=rec_no;j++}
{
fprintf(f1,"\n">;
for(i=1;i<=no_fld;i++}

{
13

fprintf(f1l,"” %s\t",rec{3].f1ldlil};

3

fprintf(f1,"\8"3;

fprintf(f1,"\n"};

gotoxy(58,23);

printf(” The file has been created " I3
fclose(fl);

delay (38847 ;

3

[N



